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QUESTION 1

Which three are required components for a vRealize Business Standard installation? (Choose three.) 

A. VMware identity appliance 

B. vRealize Automation appliance 

C. VRealize Business Standard Appliance 

D. vRealize Automation IaaS component 

E. vRealize Operations Manager appliance 

Correct Answer: ABC 

 

QUESTION 2

The ability to perform a stretch deploy of a virtual machine contained in a vApp using the vSphere Client is unavailable.
The administrator verifies that the environment is properly licensed and the target virtual machine is powered off. 

What should the administrator do to enable the stretch deploy option? 

A. Power on the VM being stretch deployed. 

B. Configure the L2 VPN tunnel. 

C. Verify storage space on the destination is double the size of the VM 

D. Ensure the portgroup the VM connects to is VXLAN based. 

Correct Answer: C 

 

QUESTION 3

An IP address is provisioned from a vRealize Automation Network Profile static IP range. What will happen when the
workload using the IP address is destroyed? 

A. It will be automatically returned to the range for reuse within minutes. 

B. It will be batched with all reclaimable addresses and returned to the range daily. 

C. It will be permanently marked as unavailable for that specific range to prevent IP conflicts. 

D. It will be marked as unavailable until the range is deleted and recreated. 

Correct Answer: A 

 

QUESTION 4
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What are two valid usable cloud resources that can be leveraged by vRealize Automation? (Choose two.) 

A. Google Compute Engine 

B. SCVMM 

C. KVM (RHEV) 

D. Standalone ESXi 

Correct Answer: BC 

 

QUESTION 5

To improve provisioning time of Clone workflows, the configured per-agent limit has been increased. However, many of
the workflows now fail. 

What action would resolve this? 

A. Add compute resources 

B. Increase the timeout interval 

C. Enable Fast Provisioning 

D. Increase the appliance RAM to 12GB 

Correct Answer: B 
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